
RODIADRILL Ceramic ECO

No. FF40140

dated: 08/15

1

www.rothenberger.de


RODIADRILL Ceramic ECO

No. FF40140

dated: 08/15

Item no. Description Article no. Quantity

1 Drill holding fixture G1/2" complete FF35751 1

2 O-ring seal 13x1,5 FF57114 1

3 Circlip A25 DIN 471 H98197 1

4 Capsule FF57115 1

5 Compression spring 30x1,8x45 FF57116 1

6 Impact ring FF57117 1

30 Water hose FF35301 1

33 Ball 4 F88625 4

35 Spacer FF57181 1

36 Grub screw M5x8 DIN 916 FF57142 1

37 Flushing head RD Ceramic ECO FF57180 1

38 Oil seal 42x30x7 DIN 3760 FF57144 2

39 Pinion shaft FF57145 1

40 Feather key 4x4x25 DIN 6885 hardened FF57146 1

41 Circlip J35 DIN 472 7620057 1

42 Oil seal A20/35x7ACN DIN 3760 FF57147 1

43 Bearing 6003 2Z FF57148 1

44 Transmission housing FF57149 1

45 Circlip A17 DIN 471 H81205 1

46 Double gearwheel 23Z/33Z FF57150 1

47 Fflat gasket FF57151 1

48 Engine cover FF57152 1

50 Compression spring 3,7x0,6x13 FF56768 1

51 Slotted spring pin 5x12 DIN 7346 FF56769 1

52 Operating handle FF57154 1

53 O-ring seal 9,1x1,6 FF56764 1

54 Shift lever FF57155 1

55 Lock washer 6 DIN 6799 FF56766 1

56 Bearing 607 N6072RS 1

57 Counter shaft complete incl. Pos. 58 FF57156 1

58 Gearwheel 21Z FF57157 1

59 Cylinder bolt 4x16 DIN 7 FF56735 1

60 Grounding sign yellow/green FF57101 1

61 Protective earth conductor FF57104 1

63 Spring washer A4 DIN 127 ZN FF57105 1

64 Cheese head screw M4x8 DIN 84 ZN FF57158 1

65 Bearing 6000 C3 2RS N60002RS 1

66 Fan FF57159 1

67 Armature 230V incl. Pos. 66/68 FF57160 1

68 Isolation ring FF57161 1

69 Bearing 608-2Z T855284 1

70 Oval-head screw 3,9x70 DIN 7981 ZN FF57163 2

71 Air conduction washer FF57164 1

72 Isolation plate FF57165 1

73 Field 230V FF57166 1

74 Signboard FF57167 1

76 Engine housing FF57169 1

77 Spring washer 5 DIN 7980 FF57170 4

78 Hex head screw M5x45 DIN 912 H80614 4

79 Sheet metal screw 2,9x9,5 DIN 7971B FF57171 2

80 Carbon bracket FF57172 2

81 Carbon brush FF57173 2

82 Oval-head screw 3,9x19 DIN 7981 ZN FF56758 4

83 Handle FF57174 1

85 Bend protection grommet FF56752 1

86 Bushing clamp 1-p. FF57112 1

87 Cable with PRCD contactor F88086 1

88 Cable link FF56754 1

89 Oval-head screw 3,9x16 DIN 7981 ZN FF56753 2

90 Condenser FF57176 1

91 Contactor FF57177 1

92 Oval-head screw 3,9x25 DIN 7981 ZN FF57178 1

93 Oval-head screw 3,9x13 DIN 7981 ZN FF56750 1

94 Handle scale FF57179 1

95 Washer 4,3 DIN 433ZN FF57103 1

101 Flat spanner SW24 FF70024 1

102 Flat spanner SW27 DIN 894 FF70027 1

2

www.rothenberger.de


RODIADRILL Ceramic ECO

No. FF40140

dated: 08/15

IMPORTANT! To assure safety and reliability, repairs, maintencance and adjustment must be preformed by ROTHENBERGER

Kelkheim or authorized Service-Centers. Always use Original-Service-Parts. Order your accessories and spare parts

from your specialist retailer or using our Service After Sales hotline

 

 

Powered by TCPDF (www.tcpdf.org)

3

http://www.tcpdf.org
www.rothenberger.de

